Practice #11 Alg2  Radians, Coterminal Angles, Special Rt A’s ~ Monday, March 30, 2020
1. Find the EXACT value of x and y in each special right triangle.
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2. Convert to degrees. Round to the nearest hundredth.

0= 237x
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3. Convert to radians. Leave answer as a reduced fraction in terms of «.

0 = 220°

4. For the given angles state both a positive and a negative coterminal angle. Give your answer in the
same units as the original angle.

a) 6 = —1900° b) 0 = 2%1
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5. Use the given reference angle to state both a pos and neg measure, in radians, for this angle, in
Standard Position.
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6. Find an angle such that 0° < 6 < 360° or 0 < 6 < 2r, that is coterminal to the given angle. Give your
answer in the same units as the original angle.

a) 9 = 2360° b) 0 = %

7. State the reference angle, in radians, for the given angle 9, in Standard Position.
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Practice #11 Alg2  Radians, Coterminal Angles, Special Rt A’s
1. Find the EXACT value of x and y in each special right triangle.

a) b)
y e B
’Lmi S am X~ J/
N S — }
X = Y=
. 2 ‘ sSL= /2 h‘? F)'—' )
Lo sy f3 S = (/1 (l) ‘/23 Le@ - H-\/P - _—‘—— » _{_;:‘
/)ﬂ s T—'z'_ Yz
2. X=Y= - =

2. Convert to degrees. Round to the nearest hundredth.
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3. Convert to radians. Leave answer as a reduced fraction in terms of .
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4. For the given angles state both a positive and a negative coterminal angle. Give your answer in the
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5. Use the given reference angle to state both a pos and neg measure, in radians, for this angle, in
Standard Position.
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6. Find an angle such that 0° < 8 < 360° or 0 < @ < 2x, that is coterminal to the given angle. Give your
answer in the same units as the original angle.
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7. State the reference angle, in radians, for the given angle ¢, in Standard Position.
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